


[A] General ( )

1. This Question paper contains FIVE Parts, A to E (Physics, Chemistry, Mathematics, Biology & Mental Ability).
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2. This Question Paper contains 22 pages including the cover page.
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3. This question paper contains total 75 questions (15 questions each in Physics, Chemistry, Mathematics, Biology

and Mental Ability).
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4. The Question Paper has blank spaces at the bottom of each page for rough work. No additional sheets will be

provided for rough work.

5. Blank papers, clip boards, log tables, slide rule, calculators, cellular phones, pagers and electronic gadgets, in
any form, are NOT allowed.

6. The OMR (Optical Mark Recognition) sheet shall be provided separately.

OMR (Optical Mark Recognition) 
[B] Answering on the OMR

7. In all the parts, each question will have 4 choices out of which only one choice is correct.

4 
8. Darken the bubble with Ball Pen (Blue or Black) ONLY.

 
[C] Filling OMR
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PART-A : PHYSICS  ( ) 

[Q.1] Suppose a boy is enjoying a ride on a merry-go-round which is moving with a constant speed 

of 10 m s–1. It implies that the boy is 

 [A]  at rest   [B]  moving with no acceleration 

 [C]  in accelerated motion  [D]  moving with uniform velocity 

 मान लीजिए कि एि लड़िा एि मैरी-गो-राउंड पर सवारी िा आनंद ले रहा है िो 10 m s–1 िी समान 
गति से चल रही है। इसिा मिलब है कि लड़िा है 

 [A]  आराम िी जथिति में  [B]  बबना किसी त्वरण िे चल रहा है 

 [C]  त्वररि गति स े   [D]  एिसमान वेग से गतिमान 

[Q.2] A body starts from rest. What is the ratio of the distance travelled by the body during the 4th and 

3rd second ? 

 एि पपडं पवरामावथिा से शुरू होिर एि समान त्वरण से गति िरिी है। 4th और 3rd सेिंड िे दौरान 
पपडं द्वारा िय िी गई दरूी िा अनुपाि क्या है? 

 [A]  7/5  [B]  5/7 [C]  7/3  [D]  3/7  

[Q.3] A body, moving in a straight line, with an initial velocity u and a constant acceleration a, covers 

a distance of 40 m in the 4th second and a distance of 60 m in the 6th second. The values of u 

and a respectively are  

 एि पपडं प्रारंभिि वेग u और तनयि त्वरण a िे साि एि सीधी रेखा में चलिे हुए, चौिे सेिंड में  

40 मीटर िी दरूी और छठे सेिंड में 60 मीटर िी दरूी िय िरिा है। u और a िे मान क्रमशः हैं 

 [A]  10 m s–1, 5 m s–2    [B]  10 m s–1, 10 m s–2  

 [C]  5 m s–1, 5 m s–2   [D]  5 m s–1, 10 m s–2  
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[Q.4] Consider two spring balances hooked as shown in the figure. We pull them in opposite 

direction. If the reading shown by A is 1.5 N, the reading shown by B will be  

 िैसा कि चचत्र में ददखाया गया है, दो जथपं्रग िरािू पर पवचार िरें। हम उन्हें पवपरीि ददशा में खींचिे हैं. 
यदद A द्वारा ददखाई गई रीडडगं 1.5 N है, िो B द्वारा ददखाई गई रीडडगं होगी 

 

 [A]  1.5 N  [B]  2.5 N [C]  3.0 N  [D]  zero  

[Q.5] A ball is thrown up and attains a maximum height of 19.6 m. It’s initial speed was  

 एि गेंद िो ऊपर फें िा िािा है और वह अचधििम 19.6 मीटर िी ऊंचाई प्राप्ि िरिा है। इसिी 
प्रारंभिि गति िी 

 [A]  9.8 ms–1 [B]  44.3 ms–1 [C]  19.6 ms–1 [D]  98 ms–1 

[Q.6] A force of 2 × 105 N acts on a body of mass 4 × 104 kg at rest for 10 s. The final velocity of the 

body is  

 2 × 105 N िा बल पवश्राम अवथिा में 4 × 104 किग्रा द्रव्यमान िे पपडं पर 10 सिंेड िे भलए िायय िरिा 
है। पपडं िा अंतिम वगे है  

 [A]  5 m s–1  [B]  50 m s–1  [C]  150 m s–1  [D]  250 m s–1 

[Q.7] A gun of mass 1 kg fires 4 bullets per sec each of mass 20 g with a velocity 300 m s–1. The 

force required to hold the gun is  

 1 किलो द्रव्यमान िी एि बंदिू प्रति सेिंड 4 गोभलया ंचलािी है, जिनमें से प्रत्येि िा द्रव्यमान 20 ग्राम 
और वेग 300 m s-1 होिा है। बंदिू िो िामने िे भलए आवश्यि बल है 

 [A]  24 N  [B]  28 N  [C]  32 N  [D]  10 N 
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[Q.8] Velocity-time graph of an object of mass 2 kg is shown in figure. The force required to move 

the object for first four seconds is  

 2 किलो द्रव्यमान िी वथिु िा वेग-समय ग्राफ चचत्र में ददखाया गया है। पहले चार सेिंड िे भलए वथिु 
िो थिानांिररि िरने िे भलए आवश्यि बल है 

 

 [A]  0  [B]  4 N [C]  2 N   [D]  8 N 

[Q.9] A stone dropped from the roof of a building takes 4s to reach the ground. The height of the 

building is 

 एि इमारि िी छि से चगराया गया एि पत्िर िमीन िि पहंुचने में 4 सिंेड िा समय लेिा है। 
इमारि िी ऊंचाई है 

 [A] 19.6 m [B]  39.2 m [C]  156.8 m [D]  78.4 m 

[Q.10] Two blocks of masses 5 kg and 2 kg are connected by a mass less string as shown in figure. A 

vertical force F is applied on the 5kg block. Find the value of F if tension in the string is 40 N.  

(g = 10 m/s2)  

 5 किग्रा और 2 किग्रा द्रव्यमान िे दो ब्लॉि एि द्रव्यमान रदहि रथसी द्वारा िडेु़ हुए हैं िैसा कि चचत्र 
में ददखाया गया है। 5kg ब्लॉि पर एि लंबवि बल F लगाया िािा है। F िा मान ज्ञाि िीजिए यदद 
डोरी में िनाव 40 N है। (g = 10 मी/से2) 

 

 [A]  140 N [B]  70 N [C]  40 N  [D]  100 N 

 

5kg 

2kg 

F 



 

 

 
 
 
 
 

For Students in Class 9 going to Class 10 |  [SAMPLE TEST PAPER ] 

 

[ 5 ] 
 
 

Space for rough work 

Mentors Eduserv: Parus Lok Complex, Boring Road Crossing, Patna-1 
Helpline No. :  9569668800 | 7544015993/4/6/7 

[Q.11] An apple falls from a tree because of gravitation between the earth and apple. If F1 is the 

magnitude of force exerted by the earth on the apple and F2 is the magnitude of force exerted 

by apple on earth, then: 

 [A] F1 is very much greater than F2  [B] F2 is very much greater than F1 

 [C] F1 is only a little greater than F2  [D] F1 and F2 are equal 

 पथृ्वी और सेब िे बीच गुरुत्वािर्यण िे िारण एि सेब पेड़ से चगरिा है। यदद F1, पथृ्वी द्वारा सेब पर 
लगाए गए बल िा पररमाण है और F2, सेब द्वारा पथृ्वी पर लगाए गए बल िा पररमाण है, िो: 

 [A]  F1, F2 से बहुि अचधि है  [B]  F2, F1 से बहुि अचधि है 

 [C]  F1, F2 स ेिेवल िोड़ा अचधि है  [D]  F1 और F2 बराबर हैं 
[Q.12] If g is acceleration due to gravity on the surface of the earth having radius R, find the height 

 above the surface of earth at which the acceleration due to gravity reduces to g/2. 

 यदद g बत्रज्या R वाली पथृ्वी िी सिह पर गुरुत्वािर्यण िे िारण त्वरण है, िो पथृ्वी िी सिह से वह 
ऊँचाई ज्ञाि िीजिए जिस पर गुरुत्वािर्यण िे िारण त्वरण घटिर g/2 हो िािा है। 

 [A] ( )h 2 1 R= −  [B] ( )h 2 2 R= −  [C] ( )h 3 1 R= −  [D] ( )h 3 3 R= −  

[Q.13] According to Kepler, the period of revolution of a planet (T) and its mean distance from the sun 

(r) are related by the equation 

 [A]  T2r3 = constant    [B]  T2r–3 = constant 

 [C]  Tr3 = constant    [D]  T2r = constant 

 िेप्लर िे अनुसार, किसी ग्रह िी पररक्रमा अवचध (T) और सूयय से उसिी माध्य दरूी (r) तनम्न समीिरण 
द्वारा संबंचधि हैं: 

 [A]  T2r3 = जथिरांि    [B]  T2r–3 = जथिरांि 

  [C]  Tr3 = जथिरांि    [D]  T2r = जथिरांि 
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[Q.14] The radius of the orbit of a geosynchronous satellite is 36000 km, then the period of revolution 

of a satellite with its orbital radius 9000 km would be 

 एि िू-समिाभलि उपग्रह िी िक्षा िी बत्रज्या 36000 किमी है, िो 9000 किमी िक्षीय बत्रज्या वाल े
उपग्रह िी पररक्रमा अवचध क्या होगी? 

 [A]  24 hrs  [B]  12 hrs  [C]  6 hrs  [D]  3 hrs 

[Q.15] The gravitational force between two objects of mass 1 kg each, separated by a distance of 1m 

in vacuum will be 

 तनवायि में 1 मीटर िी दरूी पर जथिि 1 किग्रा द्रव्यमान िी दो वथिुओं िे बीच गुरुत्वािर्यण बल होगा 

 [A]  zero    [B]  6.675 × 10–11 N  

 [C]  13.350 × 10–11 N   [D]  3.337 × 10–11  N 

PART-B : CHEMISTRY  ( ) 

[Q.16] Scattering of light occurs when a beam of light is passed though 

 [A]  blood   [B]  water               

 [C]  copper sulphate solution [D]  Brine 

 प्रिाश िा प्रिीणयन िब होिा है िब प्रिाश िी किरण गुिरिी है 

 [A]  रक्ि   [B]  पानी               

 [C]  िॉपर सल्फेट घोल   [D]  नमिीन पानी  

[Q.17] Fog is an example of 

 [A]  foam [B]  emulsion [C]  aerosol [D]  gel 

 िोहरा इसिा उदाहरण है 

 [A]  फोम [B]  इमल्शन [C]  एरोसोल [D]  िेल 
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[Q.18] Which of the following is not a colloid ? 

 [A]  smoke [B]  haemoglobin [C]  latex [D]  air 

 तनम्नभलखखि में से िौन सा िोलाइड नहीं है? 

 [A]  धुआं [B]  हीमोग्लोबबन [C]  लेटेक्स [D]  हवा 

[Q.19] The zig-zag movement of dispersed phase particle in a colloidal system is known as  

 [A] Brownian motion   [B] translation motion  

 [C] circular motion   [D]  linear motion 

 िोलाइडल प्रणाली में पररक्षक्षप्ि चरण िण िी टेढी-मढेी गति िो िहा िािा है 

 [A] ब्राउतनयन गति   [B] थिानांिररि गति  

 [C] वतृ्तािार गति   [D]  रैखखि गति 

[Q.20] Which of the following is a characteristic of both mixtures and compounds? 

 [A]  Their properties are the same as those of their components 

 [B]  Energy is absorbed when they are made 

 [C]  Their mass equals the sum of masses of their components 

 [D]  They contain the components in a fixed proportion 

 तनम्नभलखखि में से िौन सा भमश्रण और यौचगि दोनों िी पवशेर्िा है? 

 [A]  उनिे गुण उनिे घटिों िे समान ही हैं 

 [B]  िब वे बनिे हैं िो ऊिाय अवशोपर्ि होिी है 

 [C]  उनिा द्रव्यमान उनिे घटिों िे द्रव्यमान िे योग िे बराबर होिा है  

 [D]  इनमें तनजश्चि अनुपाि में घटि होिे हैं 
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[Q.21] The difference in properties of a solution, a colloid and a suspension is due to 

 [A]  different size of their solute particles [B]  difference in their composition 

 [C]  Their different boiling points [D]  Their different melting points 

 किसी पवलयन, िोलॉइड ििा तनलंबन िे गुणों में अंिर किसिे िारण होिा है? 

 [A]  उनिे पवलेय िणों िे पवभिन्न आिार [B]  उनिी संरचना में अंिर 

 [C]  उनिे अलग-अलग क्विनािं [D]  उनिे अलग-अलग गलनािं 

[Q.22] The value of Avogadro's constant is 

 अवोगाद्रो जथिरांि िा मान है 

 [A]  6.0 × 1024 [B]  6.01 × 1022 [C]  6.022 × 1023 [D]  6.023 × 1025 

[Q.23] One amu is 

 एि amu िा मान है  

 [A]  1.00758 g [B]  0.000549 g [C]  1.66 × 10–24 g [D]  6.023 × 10–23 g 

[Q.24] The formula of a chloride of a metal M is MCl
3
, the formula of the phosphate of metal M will be 

 धािु M िे क्लोराइड िा सूत्र MCl
3
 है, धािु M िे फॉथफेट िा सूत्र होगा 

 [A]  MPO
4
 [B]  M

2
PO

4
 [C]  M

3
 PO

4
 [D]  M

2
(PO

4
)

3 

[Q.25] The volume of 16 gm of sulphur dioxide gas at NTP is (S = 32, O = 16): 

 NTP पर सल्फर डाइऑक्साइड गैस िा आयिन 16 ग्राम है (S = 32, O = 16): 

 [A]  5.6 L [B]  11.2 L [C]  22.4 L [D]  44.8 L 

[Q.26] The modern atomic weight scale is based on : 

 आधुतनि परमाणु िार पैमाना तनम्न पर आधाररि है: 

 [A]  C12 [B]  O16 [C]  H1 [D]  C13 
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[Q.27] A gas can be best liquefied by 

 [A]  lowering the temperature  

 [B]  increasing the temperature 

 [C]  increasing the pressure  

 [D]  increasing the pressure and lowering the temperature 

 किसी गैस िो सवोत्तम िरीिे से किस प्रिार द्रवीिृि किया िा सििा है 

 [A]  िापमान िम िरिे  [B]  िापमान में वदृ्चध से 

 [C]  दाब बढा िर   [D]  दाब बढा िर और िापमान िम िरिे 

[Q.28] Which one of the following gases undergoes diffusion most readily? 

 [A]  LPG  [B]  Carbon dioxide [C]  Hydrogen [D]  Nitrogen 

 तनम्नभलखखि में से िौन सी गैस सबसे अचधि आसानी से फैलिी है? 

 [A]  LPG    [B]  िाबयन डाइऑक्साइड  

 [C]  हाइड्रोिन   [D]  नाइट्रोिन 

[Q.29] Which of the following indicates the relative randomness of particles in the three states of 

matter? 

 [A]  solid > liquid > gas  [B]  liquid < solid < gas  

 [C]  liquid > gas > solid  [D]  gas > liquid > solid 

 तनम्नभलखखि में स ेिौन पदािय िी िीन अवथिाओं में िणों िी सापेक्ष यादृजछछििा िो इंचगि िरिा 
है? 

 [A]  ठोस > िरल > गैस   [B]  िरल < ठोस < गैस  

 [C]  िरल > गैस > ठोस   [D]  गैस > िरल > ठोस 
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[Q.30] At higher altitudes 

 [A]  Boiling point of a liquid increases [B]  Boling point of a liquid decreases 

 [C]  No change in boiling point [D]  Melting point of solid increases 

 अचधि ऊंचाई पर 

 [A]  िरल िा क्विनांि बढ िािा है [B]  िरल िा क्विनांि घट िािा है 

 [C]  क्विनांि में िोई पररवियन नहीं [D]  ठोस िा गलनांि बढिा है  

 

PART-C : MATHEMATICS  ( ) 

[Q.31] The value of  ( )6 15 2 56− . ( )3 7 2 2+  is 

 ( )6 15 2 56− . ( )3 7 2 2+  िा मान है 

 [A]  0        [B] 1 [C] – 1    [D] 2 

[Q.32] Evaluate 
33 5

30 77

5 3

x x
x

x


 =  

 

33 5
30 77

5 3

x x
x

x


  िा मान है 

 [A] x76/15 [B] x78/15 [C] x79/15 [D] x77/15 

[Q.33] The angle between the bisectors of two adjacent supplementary angles is :  

 [A] Acute angle   [B] Right angle 

 [C] Obtuse angle    [D] None of these 

 दो आसन्न सम्पूरि िोणों िे समद्पविाििों िे बीच िा िोण है : 

 [A] न्यून िोण [B] समिोण [C] अचधि िोण [D] इनमें से िोई नहीं 
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[Q.34] Find the value of x and y of the following pair of linear equations    

 तनम्नभलखखि रैखखि समीिरण युग्म िे x और y िा मान ज्ञाि िीजिए 

1 1 1 1
(x y) (2x 4); (x – y) (x – 24)

2 3 3 2
+ = + =  

 [A] x = 20 , y = 16   [B] x = 30 , y = 15  

 [C] x = 40 , y = 16   [D] x = 50 , y = 18 

[Q.35] The centre of the circle passing through the ponts (6, –6), (3, –7) and (3, 3) is    

 बबदंओंु (6, –6), (3, –7)  और (3, 3) से गुिरने वाले वतृ्त िा िें द्र है   

 [A] (3, 2) [B] (–3, –2) [C] (3, –2) [D] (–3, 2) 

[Q.36] If a =
2 3

2 3

+

−
, b =

2 3

2 3

−

+
, then the value of a + b is  

 यदद a =
2 3

2 3

+

−
, b =

2 3

2 3

−

+
, िो a + b िा मान है 

 [A] 14  [B] –14  [C] 8 3  [D] 3−  

[Q.37] The sum of distances from x-axis and y-axis measured from the point (3, 5) will be 

 बबन्द ु(3, 5) से मापी गई x-अक्ष ििा y-अक्ष से दरूरयों िा योग होगा  

 [A] –1  [B] 0  [C] 2  [D] 8 

[Q.38] In the adjoining figure AB || CD and PQ, QR intersects AB and CD both at E, F and G, H 
respectively. Given that PEB = 80°, QHD = 120° and PQR = x°, then the value of x is  

 संलग्न चचत्र में AB || CD है  और PQ, QR AB और CD दोनों िो क्रमशः E, F और G, H पर प्रतिछछेद 
िरिा है। ददया गया है कि PEB = 80°, QHD = 120° और PQR = x°, िो x िा मान है  

 

 [A] 40°    [B] 20° [C] 100°    [D] 30° 
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[Q.39] If x – 2 is factor of   p(x) = x3 – 3x2 + 4x – k, then find k 

 यदद x – 2, p(x) = x3 – 3x2 + 4x – k, िा गुणनखंड है, िो k ज्ञाि िीजिए 

 [A] 1 [B] 3 [C] 4 [D] 5 

[Q.40] Which point on the y-axis is equidistant from the points (3, –2) and (4, 5) ?    

 Y-अक्ष पर िौन-सा बबदं ुबबदंओंु, (3, –2) और (4, 5) से समदरूथि है?    

 [A] (0,2) [B] (0, –2) [C] (0,3) [D] (0, –3) 

[Q.41] The remainder when 1 + x + x2 + x3 + .......+ x2023 is divided by x –1 is  

 1 + x + x2 + x3 + .......+ x2023  िो x –1 से पविाजिि िरने पर शेर्फल है 

 [A] 2020 [B] 2023 [C] 2024 [D] 2026 

[Q.42] 4 3 2x is equal to  

 4 3 2x  िे बराबर है 

 [A] x [B] x1/2 [C] x1/3 [D] x1/6 

[Q.43] In the following figure, AB || CD. Then the value of ‘x’ is 

 तनम्नभलखखि चचत्र में, AB || CD. िो 'x' िा मान है   

 

 [A]   135° [B]  95° [C]  105° [D]  265° 

[Q.44] For what value of k, the following system of equations will be inconsistent ? 

 K िे किस मान िे भलए समीिरणों िी तनम्नभलखखि प्रणाली असंगि होगी? 

 4x + 6y = 11, 2x + ky = 7 

 [A]  1 [B]  2 [C]  3 [:D] 4 

45°

x°

50°

B

D

O

A

C
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[:Q.45]  Snehal can row 28 km downstream and 12 km upstream in 5 hours. He can row 21 km down 

stream and 10 km upstream is 4 hours. Find the speed of Snehal in still water. 

 [A]  9 kmph [B]  8 kmph [C] 6 kmph [D]  5 kmph 

 थनेहल 5 घंटे में धारा िे अनुिूल 28 किमी और धारा िे पवपरीि 12 किमी िी दरूी िय िर सििी है। 
वह धारा िे अनुिूल 21 किमी और धारा िे पवपरीि 10 किमी िी दरूी 4 घंटे में िय िर सििा है। 
शांि िल में थनेहल िी गति ज्ञाि िीजिए। 

 [A]  9 किमी [B]  8 किमी [C] 6 किमी [D]  5 किमी 

PART-D : BIOLOGY ( ) 

[Q.46] The cell wall of most fungi is made of  

 [A]  Lignin  [B]  Suberin  [C]  Chitin  [D]  Pectin 

 अचधिाशं िविों िी िोभशिा भिपत्त बनी होिी है 

 [A]  भलजग्नन  [B]  सुबेररन  [C]  िाइदटन  [D]  पेजक्टन 

[Q.47] Double membrane is absent in  

 [A]  Mitochondrion  [B]  Chloroplast  [C]  Nucleus  [D]  Lysosome 

 दोहरी खिल्ली अनुपजथिि होिी है 

 [A]  माइटोिॉजन्ड्रयन  [B]  क्लोरोप्लाथट  [C]  न्यूजक्लयस  [D]  लाइसोसोम 

[Q.48] The inner membrane of mitochondria is folded because  

 [A] It has no space inside  [B]  It helps in transportation of material  

 [C]  It increases the surface area [D]  It stores more food.  

 माइटोिॉजन्ड्रया िी आंिररि खिल्ली मुड़ी हुई होिी है क्योंकि 

 [A] इसिे अंदर िोई िगह नहीं है [B]  यह सामग्री िे पररवहन में मदद िरिा है 

 [C]  यह सिह क्षेत्र िो बढािा है [D]  यह अचधि िोिन संग्रहीि िरिा है। 
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[Q.49] The solution in which a cell will gain water by osmosis is termed as  

 [A]  Isotonic solution    [B]  Hypertonic solution 

 [C]  Hypotonic solution   [D]  Both [A] and [B].  

 वह पवलयन जिसमें िोभशिा परासरण द्वारा िल प्राप्ि िरेगी, उसे िहा िािा है 

 [A]  समपरासारी पवलयन  [B]  अतिपरासारी पवलयन 

 [C]  अल्पपरासारी पवलयन  [D]  दोनों [A] और [B]। 

[Q.50] Smooth muscle fibres are  

 [A]  Spindle-shaped, unbranched, non striated, multinucleate and involuntary  

 [B]  Spindle-shaped, unbranched, unstriated uninucleate and involuntary  

 [C]  Cylindrical, striated, unbranched, multi nucleate and voluntary  

 [D]  Cylindrical, unbranched, non-striated, multinucleate and involuntary.  

 चचिनी मांसपशेी फाइबर हैं 

 [A]  धुरी िे आिार िा, अशाखखि, गैर धारीदार, बहुिें द्रिीय और अनैजछछि 

 [B]  धुरी िे आिार िा, अशाखखि, अरेखखि एििें द्रीय और अनैजछछि  

 [C]  बेलनािार, धारीदार,. अशाखखि, बहुिें द्रिीय और ऐजछछि  

 [D]  बेलनािार, अशाखखि, अधारीदार, बहुिेन्द्रिीय और अनैजछछि।  

[Q.51] Flexibility in plants is due to  

 [A]  Collenchyma  [B]  Sclerenchyma  [C]  Parenchyma  [D]  Chlorenchyma 

 पौधों में लचीलापन किसिे िारण होिा है?  

 [A]  थिूलिोणोिि [B]  दृढ ऊिि [C]  मदृिूि  [D]  हररि ऊिि 
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[Q.52] Cardiac muscles are  

 [A]  Smooth, spindle shaped and involuntary [B]  Striated, syncytial and voluntary  

 [C]  Striated, syncytial and voluntary  [D]  Striated, cross connected and involuntary. 

 हृदय िी मांसपभेशयाँ हैं   

 [A]  चचिना, धुरी िे आिार िा और अनैजछछि [B]  धारीदार, बहुिें द्रिी और थवैजछछि  

 [C]  धारीदार, बहुिें द्रिी और थवैजछछि  [D]  धारीदार, क्रॉस िनेक्टेड और अनैजछछि।  
[Q.53] Which of the following helps in repair of tissue and fills up the space inside the organ?  

 [A]  Tendon  [B]  Adipose tissue  [C]  Areolar  [D]  Cartilage  

 तनम्नभलखखि में से िौन ऊिि िी मरम्मि में मदद िरिा है और अंग िे अंदर िी िगह िो िरिा है? 

 [A]  टेंडन [B]  वसा ऊिि  [C] संयोिि ऊिि [D]  उपाजथि 

[Q.54] Girth of stem increases due to  

 [A] Apical meristem   [B] Lateral meristem  

 [C] Intercalary meristem  [D] Vertical meristem 

 िने िी चैड़ाई बढने िे िारण हैं 

 [A] शीर्य पविज्योिि   [B] पाश्वय पविज्योिि  

 [C] इंटरिैलेरी पविज्योिि  [D] ऊध्वायधर पविज्योिि 

[Q.55] Normally, in the process of osmosis, the net flow of water molecules in or out of the cell 

depends upon differences in the  

 [A]  Concentration of water molecules inside and outside the cell  

 [B]  Concentration of enzymes on either side of the cell membrane  

 [C]  Rate of molecular motion on either side of the cell membrane  

 [D]  Rate of movement of insoluble molecules inside the cell.  
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 आम िौर पर, परासरण िी प्रकक्रया में, िोभशिा िे अदंर या बाहर पानी िे अणओंु िा शुद्ध प्रवाह अंिर 
पर तनियर िरिा है 

 [A]  िोभशिा िे अदंर और बाहर पानी िे अणुओं िी सांद्रिा 

 [B]  िोभशिा खिल्ली िे दोनों ओर एंिाइमों िी सादं्रिा 

 [C]  िोभशिा खिल्ली िे दोनों ओर आणपवि गति िी दर 

 [D]  िोभशिा िे अदंर अघुलनशील अणुओं िी गति िी दर 
[Q.56] Which of the following are functions of ribosome?  

 (i)  It helps in manufacture of protein molecules.  

 (ii)  It helps in manufacture of enzymes.  

 (iii)  It helps in manufacture of lipids.  

 (iv)  It helps in manufacture of starch molecules;  

 [A]  (i) and (ii)  [B]  (ii) and (iii)  [C]  (iii) and (iv)   [D]  (i) and (iv)  

 तनम्नभलखखि में से िौन राइबोसोम िे िायय हैं? 

 (i)  यह प्रोटीन अणुओं िे तनमायण में मदद िरिा है। 

 (ii)  यह एंिाइमों िे तनमायण में मदद िरिा है। 

 (iii)  यह भलपपड िे तनमायण में मदद िरिा है। 

 (iv)  यह थटाचय अणुओं िे तनमायण में मदद िरिा है। 

 [A]  (i) ििा (ii)  [B]  (ii) ििा (iii)  [C]  (iii) ििा (iv)   [D]  (i) ििा (iv)  

[Q.57] Human cheek cells are commonly stained with  

 [A]  Methylene blue  [B]  Safranin  [C]  Acetocarmine   [D]  Eosine  

 मानव गाल िी िोभशिाए ंसामान्यिः चचजन्हि होिी हैं  

 [A]  मेचिलीन ब्लू [B]  सैफरैनीन [C]  एसीटोिारमाइन   [D]  ईोभसन 
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[Q.58] Tracheids, vessels, wood fibres, and parenchymatous tissues are found in  

 [A]  Xylem  [B]  Cambium  [C]  Cortex  [D]  Phloem 

 टे्रकिड्स, वादहिाऐं,  िाष्ठ िंिु और मदृ ुऊिि पाए िािे हैं  

 [A]  िाइलम [B]  िें बबयम [C]  िॉटेक्स [D]  फ्लाएम 

[Q.59] Which of these types of cells is most likely to divide?  

 [A]  Epidermis  [B]  Parenchyma  [C]  Meristem  [D]  Xylem  

 इनमें से किस प्रिार िी िोभशिाओं िे पविाजिि होने िी सबसे अचधि संिावना है? 

 [A]  एपपडभमयस  [B]  मदृ ुऊिि [C]  पविाज्योिि [D]  िाइलम  

[Q.60] Find out the incorrect statement.  

 [A]  Parenchymatous tissue have intercellular spaces.  

 [B]  Collenchymatous tissues are irregularly thickened at corners.  

 [C]  Apical and intercalary meristems are permanent.  

 [D]  Meristematic tissues, in its early stage, lack vacuoles.  

 गलि ििन िा पिा लगाए।ं 

 [A]  मदृ ुऊिि में अंिरिोभशिीय थिान होिे हैं। 

 [B]  थिूल िोण ऊिि िोनों पर अतनयभमि रूप से मोटे होिे हैं।  

 [C]  शीर्य और अंिवेशी पविाज्योिि थिायी होिे है।  

 [D]  पविाज्योिि िे प्रारंभिि चरण में, ररजक्ििा िी िमी होिी है। 
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PART-E : MENTAL ABILITY ( ) 

DIRECTIONS (Qs. 61) : In the following questions complete the given number series with the most 

suitable alternative in place of question (?) 

निरे्दश (प्रश्ि 61): तनम्नभलखखि प्रश्नों में प्रश्न (?) िे थिान पर सबसे उपयुक्ि पविल्प िे साि दी गई संख्या 
श्रृंखला िो पूरा िरें।  

[Q.61] 1, 4, 9, ?, 25, 36 

 [A]  11 [B]  19 [C]  21 [D] 16 

DIRECTIONS (Qs. 62) : Complete the following alphabetical series.  

निरे्दश (प्रश्ि 62): तनम्नभलखखि वणयमाला श्रृखंला िो पूरा िरें।  

[Q.62] AYBX, EUFT, IQJP, MMNL, ? 

 [A]  QIRH [B]  NLOK [C]  GSHR [D] PJQI 

[Q.63] Sachin is the brother of the son of Ajit’s son. Then what is the relationship of Sachin to Ajit ? 

 [A] Brother [B] Cousin [C] Nephew [D] Grandson 

 सचचन, अिीि िे बेटे िा िाई है। िो कफर सचचन िा अिीि से क्या ररश्िा है? 

 [A] िाई [B] चचेरा िाई [C] ििीिा [D] पोिा 
[Q.64] Find the number that does not belong to the group : 

 वह संख्या ज्ञाि िीजिए िो समूह से संबंचधि नहीं है: 
 111, 331, 482, 551, 263, 383, 362, 284 

 [A] 263 [B] 331 [C] 383 [D] 551 

[Q.65] Find the missing number(s) : 

 लुप्ि संख्या ज्ञाि िरें: 

 

 [A] 25 [B] 37 [C] 40 [D] 42 

3

10

5 3

13

7 6

?

4
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[Q.66] Using the total number of alphabets in your solution as a parameter, find the number that 

represents G if,   

 एि पैरामीटर िे रूप में अपने समाधान में वणों िी िुल संख्या िा उपयोग िरिे हुए, वह संख्या ज्ञाि 
िरें िो G िा प्रतितनचधत्व िरिी है यदद, 

 A – 0, B – 0, C – 2, D – 2, E,–1, F – 2 G – ? 

 [A] 2 [B] 3 [C] 4 [D] 5 

[Q.67] Renu went to the market between 7 am and 8 am. The angle between the hour-hand and the 

minute hand was 90°. She returned home between 7 am and 8 am. Then also the angle 

between the minute hand and hour hand was 90°. At what time (nearest to second) did Renu 

leave and return home? 

 [A] 7 h 18 m 35s and 7 h 51 m 24 s [B] 7 h 19 m 24 s and 7 h 52 m 14 s  

 [C] 7 h 20 m 42 s and 7 h 53 m 11 s [D] 7 h 21 m 49 s and 7 h 54 m 33 s 

 रेणु सुबह 7 से 8 बिे िे बीच बािार गई िी। घंटे िी सूई और भमनट िी सूई िे बीच िा िोण 90° 

िा। वह सुबह साि से आठ बिे िे बीच घर लौटी। िब िी भमनट िी सुई और घंटे िी सूई िे बीच िा 
िोण 90° िा। रेणु कििने बिे (तनिटिम से दसूरे थिान पर) चली गई और घर लौट आई? 

 [A] 7 घंटे 18 मीटर 35 सेिें ड और 7 घंटे 51 मीटर 24 सिंेड 

 [B] 7 घंटे 19 मीटर 24 सेिें ड और 7 घंटे 52 मीटर 14 सिेें ड  

 [C] 7 घंटे 20 मीटर 42 सेिंड और 7 घंटे 53 मीटर 11 सिंेड  

 [D] 7 घंटे 21 मीटर 49 सेिंड और 7 घंटे 54 मीटर 33 सिंेड 

[Q.68] Choose the missing number from among the four alternatives:  

 चार पविल्पों में से लुप्ि संख्या िा चयन िीजिए : 

  

 [A] 15 [B] 20 [C] 25 [D] 40 

3

106 2

4

5

309 3

5

5

?6 5

2



 

 

 
 
 
 
 

For Students in Class 9 going to Class 10 |  [SAMPLE TEST PAPER ] 

 

 

[ 20 ] 
 
 

Space for rough work 

Mentors Eduserv: Parus Lok Complex, Boring Road Crossing, Patna-1 

Helpline No. :  9569668800 | 7544015993/4/6/7 

 

[Q.69] From among the four alternatives given below, which number replaces the question mark? 

 नीचे ददए गए चार पविल्पों में से िौन-सी संख्या प्रश्नवाचि चचन्ह िे थिान पर आिी है? 

 

 [A] 9 [B] 10 [C] 18 [D] 23 

DIRECTIONS (Qs. 70 & 71) : A dice is thrown 3 times and its 3 positions are given in the picture below. 

Answer the following questions. 

निरे्दश (प्रश्ि 70 से 71): एि पासे िो 3 बार फें िा िािा है और उसिी 3 जथिति नीच ेददए गए चचत्र में दी गई है। 
तनम्नभलखखि प्रश्नो िे उत्तर दो। 

 

[Q.70] Which number is opposite to 4 ? 

 िौन सी संख्या 4 िे पवपरीि है? 

 [A]  1 [B]  3 [C]  5 [D] 6 

[Q.71] Which number is opposite to 1 ? 

 िौन सी संख्या 1 िे पवपरीि है? 

 [A]  2 [B]  3 [C]  4 [D] 6 

[Q.72] A cube is 6 cm in length, breadth and height. It is painted red on two opposite faces, black on 

the other two opposite faces and green on the left over faces. It is then cut into 216 cubes of 

side 1 cm. How many small cubes have no face painted? 

 एि घन िी लंबाई, चौड़ाई और ऊंचाई 6 सेमी है। इसिे दो पवपरीि चेहरों पर लाल, अन्य दो पवपरीि 
चेहरों पर िाला और बायीं िरफ िे चेहरों पर हरा रंग किया गया है। कफर इसे 1 सेमी िुिा वाले 216 

घनों में िाट भलया िािा है। कििने छोटे घनों िा िोई पषृ्ठ चचबत्रि नहीं है? 

  [A] 16 [B] 8 [C] 64 [D] 24 
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DIRECTIONS (Q. 73) : In each of the following questions, choose the correct mirror image from 

alternatives A, B, C, and D of the Word/figure (X).  

निरे्दश (Q. 73): तनम्नभलखखि प्रत्येि प्रश्न में, शब्द/आिृति (X) िे पविल्प A, B, C, और D में से सही दपयण छपव 
चुनें। 

 [Q.73]   

 [A]   [B]   [C]    [D]   

[Q.74] Vijay walks 10 km towards North. From there, he walks 6 km towards South. The he walks 3 

km towards east. How far and in which direction is he now with reference to starting point? 

 [A]  5 km West [B]  5 km North-East [C]  7 km East [D] 7 km West 

 पविय उत्तर िी ओर 10 किमी चलिा है। वहां से वह दक्षक्षण िी ओर 6 किमी चलिा है। वह पूवय िी 
ओर 3 किमी चलिा है। प्रारंभिि बबदं ुिे संदिय में वह अब कििनी दरू और किस ददशा में है? 

 [A]  5 किमी पजश्चम [B]  5 किमी उत्तर - पूवय [C]  7 किमी पूवय [D] 7 किमी पजश्चम 

[Q.75] A direction pole is situated on the crossing. Due to an accident the pole turned in such a 

manner that the pointer which was showing East, started showing south. One traveller went to 

the wrong direction thinking it to West. In what direction actually he was travelling? 

 [A]  East [B]  West [C]  North [D] South 

 क्रॉभसगं पर एि पोल जथिि है। एि दघुयटना िे िारण पोल इस िरह मुड़ गया कि िो सूचि पूवय िो 
ददखा रहा िा वह दक्षक्षण िी ओर ददखन ेलगा। एि यात्री पजश्चम िी ओर सोचिर गलि ददशा में चला 
गया। वह वाथिव में किस ददशा में यात्रा िर रहा िा? 

 [A]  पूवय [B]  पजश्चम [C]  उत्तर [D] दक्षक्षण 

(X)
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PART-A : PHYSICS  ( ) 

[Q.1] (C) [Q.2] (A) [Q.3] (D) [Q.4] (A) [Q.5] (C) [Q.6] (B) [Q.7] (A) 

[Q.8] (B) [Q.9] (D) [Q.10] (A) [Q.11] (D) [Q.12] (A) [Q.13] (B) [Q.14] (D) 

[Q.15] (B) 
 

PART-B : CHEMISTRY  ( ) 

[Q.16] (A) [Q.17] (C) [Q.18] (D) [Q.19] (A) [Q.20] (C) [Q.21] (A) [Q.22] (C) 

[Q.23] (C) [Q.24] (A) [Q.25] (A) [Q.26] (A) [Q.27] (D)  [Q.28] (C)  [Q.29] (D) 

[Q.30] (B)    
 

PART-C : MATHEMATICS  ( ) 

[Q.31] (B) [Q.32] (D) [Q.33] (B) [Q.34] (C) [Q.35] (C) [Q.36] (A) [Q.37] (D) 

[Q.38] (B) [Q.39] (C)    [Q.40] (A) [Q.41] (C) [Q.42] (D) [Q.43] D [Q.44] (C) 

[Q.45]  (A) 

PART-D : BIOLOGY ( ) 

[Q.46] [C]  [Q.47] [D]  [Q.48] [C] [Q.49] [C] [Q.50] [B] [Q.51] [A] [Q.52] [D] 

[Q.53] [C] [Q.54] [B] [Q.55] (A) [Q.56] (A) [Q.57] (A) [Q.58] (A) [Q.59] (C) 

[Q.60] (C)   

PART-E : MENTAL ABILITY ( ) 

[Q.61] (D) [Q.62] (A) [Q.63] (D) [Q.64] (C) [Q.65] (C) [Q.66] (D) [Q.67] (D) 

[Q.68] (B) [Q.69] (B) [Q.70] (C) [Q.71] (D) [Q.72] (C) [Q.73]  (D) [Q.74] (B) 

[Q.75]  (C) 
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